PIVOT HINGES I

Top pivot (upper frame side)

Top pivot (door side)

|\ e s s e e s s e e .-

Cmm
------

Arm (door side)

1
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
L}
.

Body

# Offset hung:
Specify R/H or L/H opening to order.

18



1
4—MBX20 = L—
Flat head screw B
17 35 r
8 & ‘
141
o;%} 29 [
~ SA
= LA ek
[1] Top pivot (upper frame side)\a :
90
20 30 20127 3
3|, DraosLt |y
17
6 . o 4
5 - O] i
- .29 I , J
8 é/\\da ,
B
= ¥
a % Ry,
[2] Top pivot (door side) (_::::ion t t
ighten up set screw to
90 prevent loosening.
20 30 20
o [ o
;1 O 03| |
17.] 28 w0 =2 ]
= 9
& SA® ...
\_ '976‘
[3] Arm (door side)
o
0 PG.S 6
& |
o2l 1.
|
4—M6X20 . i J &
Flat head screw @ L} i
| — t{ .
Caution X |
Tighten up plvot screw until stop
to floor. 15
[4] Body
4—M6X20
1 1 cn Flat head screw 90 I 1
17 35 =

3.|l| Dt40LLE

D.H

20 35

F.L

13\ 15| 15

Y]

25 32

4—M6X20
Flat head screw

11C . Lo

ot
)
N Yoo \ |

> #i L]

9 CANZS P
&

4] Body 50

[1] Top pivot (upper frame side)

90

20 30 20 12|73

By

o o .

e e
. SOH |

: ‘é/\\*’f ’
U

Caution

Tighten up set screw to
prevent loosening.

20 30 20 12|17 3

B

30
8 14
©

<

20 5

[3] Arm (door side)
90

10,

J

R

L

® Y

—=

25

H’b‘

2

50

11-D

OFFSET HUNG
(Steel Door)

Left Right

Pictures show left handed
door application.

B MAXIMUM DOOR
D.WXD.H (mm) 900x2100
DOOR WEIGHT (kg) 80

116D- 110

OFFSET HUNG
(Steel Door)

Left Right

Pictures show left handed
door application.

B MAXIMUM DOOR
D.WXD.H (mm) 900x2100
DOOR WEIGHT (kg) 80

19



13CD-13C

OFFSET HUNG
(Steel Door)

=]

44 B
) |
Jan)
) ) N R1g
[1] Top pivot (upper frame side)
154
| 26 82
®s o
>5© ‘“
8

Caution

Tighten up set screw to
Top pivot (door side) prevent loosening.

154 1011 3

27 45
#125, | ﬁ
<1 [ ~
.—1 L — L~
S
15 10‘
3 4—M6X16
D120 Flat head screw
and over
T
o
30 34
1540Q 5—M6X20
Flat head screw
~ =+
- ][0 6
o | T©
o ——

=
=3

26 44 . M 26 10
!

Bl @

[3] Arm (door side)

Left Right 1 3c 50 6,14 50 614
Pictures show left handed 8 ‘ 8
door application. | JJ ] J
Slox. @ \al Slox. © \a[
B MAXIMUM DOOR I {o) LN (@)
D.WXD.H (mm) 1050%2200 [ Body % =%
DOOR WEIGHT (kg) 120 (4] Body
2CAD-2CA 200D .
44 5010
4125/ — 1
OFFSET HUNG | |
(Steel Door) &3l { WZJ&H S . L
e[ [ [ el ’
2N - L]
la—mex16 70 N AN
Flat head screw [1] Top pivot (upper frame side) Q\ /;,&
Dt40 S 154 107 3
3 |||and over a 26 82 26 10 L
5—M6X30 30 S = T
Flat head screw wlof ¢
3 ¢ . o, |
o [T ‘ AW
o \ i L 2] Top pivot (door side) & \L'r%\ AR S
e LJ . Caution N '978
S \ m Tighten up set screw to prevent loosening.
i Door stop must be installed.
D.W
240 e
30 80 80 30 10|
‘“l; S
[3] Arm (door side)
Left Right ZCA L
50 310
Pictures show left handed ;,J % 3 @
door application. slen, ® \a 5 \
I /(ﬂ N L]
B MAXIMUM DOOR N\ HBody o . © N 5]
4] Bod “’/ N/
D.WxD.H (mm) 1500%2400 ey %%@,
DOOR WEIGHT (kg) 180

20




P34
32 |
@&
()
®
[17[17

Body

3cAn 50 6,13 .
30 50 Q
6 | —
wn
S§ as B 21 3 OFFSET HUNG
5 - i
C’[ ’ : ‘ 5 L] (Steel Door)
o ol - 'ive' o
5—M6X20 [1] Top pivot (upper frame side) He,
Flat head screw
Dt40
3| andover|| % 178 6103
25 52 52 25 12 ‘L#
33 35
6—M6X30 1612 O
Flat head screw _T*‘ C = Cg
; ™~ . : =
& ’ Caution 9
o :ﬂ Deorstop mes oo ot ¥ -
S ’ [2] Top pivot (door side) %
D.W NG|
295 EA
33 86 33 86 33 12| |
G w
(G -
3cA \L [3] Arm (door side) ‘>%
62 .13 Left Right
5] \L
< J e o
= 62 13):
@ o Pictures show left handed
& 3 e shov
¥/ @$ 1 door application.
K>, . ® Jo
@ Q\ ?%“ B MAXIMUM DOOR
[4] Body Body Y Ro
k S D.WXD.H (mm) 1800x 3000
DOOR WEIGHT (kg) 300
4—M6X20
Flat head screw, cd 2 1 1 -B
17 35
r S
< &Y " OFFSET HUNG
——— al ] (Steel Door)
S\
= S\
20 35 [1] Top pivot (upper frame side)
Caution %20
o | e w0 2 g
rf\
Ji© L © 4
SO O
- 8 @/\\*f
o ¥ '976‘
[2] Top pivot (door side)
90
20 30 2012 7i3
7R
3l <l [ L
. O3
o :
20 35 &
[3] Arm (door side) L
Sl 4—M6X20 —‘ Left Right
2 T:j Flat head screw |14 ! &
32 ‘\—q O
R34

Pictures show left handed
door application.

B MAXIMUM DOOR
D.WXD.H (mm) 900x2100
DOOR WEIGHT (kg) 80

21



OFFSET HUNG o 44 Hi1a |
(Steel Door) | ,JJ
gl oA\ F I\ &
27 45 ¥ (ﬁ
Q1?.5 - ﬁ _ Top pivot (upper frame side) Big
31 [ —
of | D] 154 10113
15110 .26 82 26 {101 g#
4—M6X16 i
d D40 Flat head screw 9’7@ o Q)
and over @) -
= =
a ™|
30 |l 34 [2] Top pivot (door side)  Gaution
1549 1)) 4-mexzo rovort oassmng.
154 1041 3
R s e v
{ ] K\} St © L o &
& S oI 1% 4 Qo
o [TEL > . J
[ o N
25 | “’ S
38 Arm (door side) Ro3
Left Right liley
70
rsa | ||
gicturesl_shqc\_lv left handed o H TR
oor application. 3 ,@()@, N
3 {e@)el;
H MAXIMUM DOOR 50
D.WXD.H (mm) 1050%x2200 [4] Body
DOOR WEIGHT (kg) 120
L[]
2Bc 2B Top pivot insert (upper frame).
ZBG .27 45 ,L
OFFSET HUNG 12‘5 ﬁ 44 5110
i L
(Steel Door) = = 1
QLTLI:L o) QF [1] Top pivot (upper frame side) N b)?\‘{‘ T]
4—M6X16 NI 8s
Flat head screw
N i 154 107.3
o ‘ EJ 2 %10 Ll
330 and:;ver T ; : ; T
| @ @ i
4—M6X30 4 NG L
Flat head screw ] <
ALY
T 8
& l o T Caution
41 7 = rovertoosening.
=g Welding available 240 573
$50 30, - 80301
o "é* ,‘_ &‘ 0| "é ,‘_ H
> & | f\' 52"«& il L
g oA ® &
Arm (door side) o,
\ 8o,
L
Left Right LO:
4—M6X16 [1] Top pivot cut-out (upper frame). ‘ T
Flat head screw 154 10110 J
Pictures |,sho\./v left handed ﬂ%%* e 82 2610 ] @'é;\@ 8
door application. z][ 2 éfgk $ P $ @& ==ar
o =1 L) | @Body |® 1 ¢4
B MAXIMUM DOOR s . SENINE nolnzs
D.WXD.H (mm) 15002400 Flathead serew [T Top pivt (upper rame side) P27
DOOR WEIGHT (kg) 180

22



Top pivot insert (upper frame).

3BC , .30, o
| [ ‘ l\‘ & 50 6 13
= ===k Lon
S — J |
3 G
\4—M6X20 ’ H;j‘
Flat head sqrew = ‘4‘ =
D40 4 (\ i
3_|jland over = Top pivot (upper frame side) 3 Rey
33 || 35 o
4—M6X30 178 6}10 3
Flat head screw ; 25 ; 52 ; 52 ; 25 ‘12
gl | o ENE o100 e @ G|l
oG i 2 AN
S 'ﬂ.( o\ A
e & | g Top pivot (door side) | &/ AR
95. 4 Welding available = Cgutlon \ﬁ '997
HH prevent loosening.
[ T ©
‘ D.W 3
—TO—‘ 295 210
33 86 i 33 86 i 33 12 |

Qi

912

33 7] 28

Arm (door side)

3BC-3B

OFFSET HUNG
(Steel Door)

i3 .
I U Left Right
3B [1] Top pivot cut-out (upper frame). o ® |
416 30 5—M6X20 178 6 13 b pany ;
LT g Fatedsoow [ e 5 5 g pcR== Pictures show left handed
S sy A door application.
S e [ o o % = ®
} Pt ht 5 i
| = T N R35 | R35 B MAXIMUM DOOR
5—M6X20 8 @N“ A MI [4] Body 080
Flat head screw \\S)S 7 D.WXD.H (mm) 1800x 3000
DOOR WEIGHT (kg) 300
* Parts supplied to order.
R * Consult for the delivery time. =
Hex. soc. screw. o0 5 15
£ 50_..50_.50_ 50_. 5015 OFFSET HUNG
Lm.m — - L Steel Door
R __J5i% 5 FEag® L9 ( )
S — =~ + 05
[s)
s \ \
6—M10X35 (\
Hex. soc. screw. [1] Top pivot (upper frame side) /9‘?5
D.W
280 5110
50..50 .50, .50 _ 50 15
= g
g © |40 | ©
do ~ 09 o,
68 || DT o | N
% [2] Top pivot (door side) “ Vo
g Caution \ /935
3 l prevent loosening.
2 - 380 505
oy = ‘ 570 ‘ = 50 .50 .50 __50_, 50 .50 _ 50 (5
T 3 sssss—=.
P : < < @ ERrE @
& €2 $88 ?‘97{ & ‘E’m ‘»’,é:,‘130 I
C ] m(w
o - ©
‘,—2'00—.‘ [3] Arm (door side)
i 2
Left Right
B
m @ gictures Ifshot\_/v left handed
©| oor application.
(o)
Weoy & [ T B MAXIMUM DOOR
|__Rroizo D.WxD.H (mm) 4000x5000
200
DOOR WEIGHT (kg) 1000

23



90 110
= 7. 35 |Lﬁ
< = [ I i
OFFSET HUNG i . = 2 & *ﬁl
- L - — m&
(Steel Door) T 5 S AN Y29 ‘JJ
= A\
4-44.8X32
Flat head screw
20 29 [1] Top pivot (upper frame side)
3 90
Er%Gover 20 30 _ 20 _12|7..3
\ 1T
~ | - i
[ee) |l e
e o @ o |
~ I il j
8 SAE
< \{ Ri1e
a Caution
[2] Top pivot (dogoor side)
30 20_ 1217, .3
EE1
~
175 28 Q
~
4-44.8X32 o
Flat head screw o
=
Left Right 8
2 I
Pictures show left handed BL =9 =g
door application.
Body screw
Caution
. MAXIMUM DOOR Tighten up plvot screw until stop
to floor.
D.WXD.H (mm) 900x2200 (4] Body
DOOR WEIGHT (kg) 80
. 10
SW-11GD-SW-11G|  s%von.. © L
< F—
[T el
OFFSET HUNG Cil i 2l oy ‘
(Steel Door) E “ﬁ ' S
4-44.8X32
Flat head screw
3 [1] Top pivot (upper frame side)
Dt36 90
and over ‘ 20 30 20 1‘. 7 i3
=11
: el o &
- o N > ST |
| © 72\
© &
e 122 tJJ
& & \%’f
4-448%32 Nl
Flat head screw [2] Top pivot (door side)
| 20
ol | ] HE]
FL ol ] 1 o =
o) l : r=) &
‘_77 S N
mé [— ™~
25 32 &
Caution

Left Right

Pictures show left handed
door application.

B MAXIMUM DOOR
D.WXD.H (mm) 900%x2100
DOOR WEIGHT (kg) 80

‘ Tighten up set screw to prevent loosening.

SW-11C

90

T
: )
o,
&
3 29

Body

=

26

L

N
25

R

[3] Arm (door side)

90 10,

26
o
’999
]

® Y o

[4] Body

R

24




SW-11B

17 35
- = g [ I OFFSET HUNG
E l i of o m,% » (Steel Door)
o [ 2 [ T[] 5 ~
4448X32 |
Flat head screw [1] Top pivot (upper frame side)
20 29 9
3 20 30 _ 20 127 3
DI36 [ RSNy
and over ~ “*}@ - “
o 5 &L |!
=HP o 90 |
b= [ il
§ “;“/\\*’f
. &)=
° mTOp pivot (door Side) (':I'iec_l;:tt:’nn up set screw to
90
2030 20 12[7].3
. [oe) A
8| o
o]
20| 29 ~
54
4448%32 |
Flat head screw
w0l o] o |
2l [ [T - Left Right
: ELQH ! > A
: 50 ,
2 | [14] JJ Pictures show left handed
25 | = door application.
H i
Ros (Dol g
I B MAXIMUM DOOR
(@) Body D.WXD.H (mm) 900x2100
DOOR WEIGHT (kg) 80
[1] Top pivot (upper frame side) Upper and lower portion No.1 for reverse installation s.1 AF
‘ 170
826 128 CENTER HUNG
,%{}4},7, (Steel Door)
“R37 2139 Ny
B176 %ﬁ“
18 120 4-M5X16 Flat head screw J
$18 / 14.5 Backplate(Option) |~
: ARl
N =i | : HL 5 !
ST —e & | :

[t] U] ©
425 N\
| ) . 3-M5X16 Flat head screw
|18| 14,5 Backplate(Option)

Top pivot (door side)

0o, T, o

16[,30 [, 48 |, 48 |
151
1 ey .
S ‘ a
?12
i ;
[ i & © ] 9 S
[ I [}
0 o
4 5 & e
36 Arm (door side)
46 2 [4] Body
4—M6X20 (Flat head screw)
16 154 M6 fixing screw to be site gauged.
R50 /
£ i 3l
G : B MAXIMUM DOOR

‘ D.WxD.H (mm) 900%x2100
DOOR WEIGHT (kg) 100




S-1A

CENTER HUNG

B MAXIMUM DOOR

Top pivot U
[1] Top pivot (upper frame side) 18, 120 scis
‘ 170 “I:&ﬁ o o] [T
8 26 128 S e
L )
—%—6}—4&—7— #10Holf ‘ W TN g w16 Fiat head scrow
R37 R139 \ ;%@w 1000 q
45 [ o0 [25]25]
R176 ! 4] 135
Add "U" after article number when U type top pivot required.
18 120 4-M5X16 Flat head screw -
/ 4.5 Backplate(Option)
~ /
) L > m¢
Hal
1
= — ot |
\ 3-M5X16 Flat head screw
,@3 ,7,,@77,7,,3:\.
[ =y
161,30 [, 48 48 ]
- 151 [2] Top pivot (door side)
a5
4—M6X20 a
wf FI
ai =
e
N —
el
25
32
[4] Body

| [3]Arm (door side)

D.WXD.H (mm) 9002100 ! (7
DOOR WEIGHT (kg) 100
Top pivot (upper frame side)
1826 128
CENTER HUNG Y 5 eT]
_R37 139 B = s hdlgcrewwllhsgnnngshsv
R176 g & J‘$ 4;@% %] ]
18 120 4-M5X16 Flat head screw || ‘\Ggs 25 | 25
m / 14.5 Backplate(Option) Add "U- 11" after article number when U type top pivot required.
= ¢ e (NOTE : S-2AU-1)
e R N o
S T S T ¥
& mI LT ] ©
$25
P . 3-M5X16 Flat head screw
118] 14,5 Backplate(Option)
Oo T
© O
i 16[,30,[, 48 [ 48 | . .
- 151 [2] Top pivot (door side) s
=l
)
8
. g T
60 4-M6X30 Flat head screw § a
<
t4.5 Support plate (opt.) §
:B | 050
FL. i - T =
© _| 450 )
Welding available N 0 3| o
N JJ45
[3] Arm (door side)
3 D.W
— R63 B35
[4] Body
H MAXIMUM DOOR H
D.WXD.H (mm) 1500%x2400
DOOR WEIGHT (kg) 180

26




Top pivot (upper frame side)

4M5X16

S-3A

170 N /Pl head scon|
8 .26 128 i ]
i © i
,%@,%,7, X ECE O T T aF CENTER HUNG
i el #12H0le| | Aqjist sorew PO ,
5 T (e an . Screw vith sping washer,
R176 N 25 6, &
i 719 % “
18 120 4-M5X16 Flat head screw [ ee e
418 t4.5 Backplate(Option) Add "U- 1" after article number when U type top pivot required.
~ o /7 (NOTE : S-3AU-11)
) HL N !
| i |
- — 1 o .4 I‘ T *
& NI T ] ©
$25
3-M5X16 Flat head screw
18| 145 Backplate(Option)
7an\ N © ol ey
Qe ot
161,30, [, 48 [, 48 ]
- 151 Top pivot (door side) o
a
o
8
D.W k7
=]
sy T
4-M6X30 Flat head screw ® o
60 =
(=]
4.5 Support plate (opt.) o
‘ Il 0 ™
HA o W i
== [=]
2 & @
364 o &
Welding available
o mzn M
[0 ]
Arm (door side)
3 D.W (4] Body
— P63 R35

R70

B MAXIMUM DOOR

D.WXD.H (mm) 1800x 3000

DOOR WEIGHT (kg)

300

[1] Top pivot (upper frame side)
250

* Parts supplied to order.
* Consult for the delivery time.

S-4A

Opening 100

35, 55 70 70
! ! | CENTER HUNG
a g | —
gho- o2 Slad
R40 R220
Caution
6—M10X35 ‘ Tighten up set screw to prevent loosening. ‘
Hex. soc. screw.
25 $8Hole
i n s
L i N 8 =3 75
S Py HEE HTHISISE | 8
0 0 of L1} 11 0 =s “'L__J'—’O w0
i o | el
10| Opening 80 6—M10X35 £
Hex. soc. screw. S
58 ¢ Ogy
A z
35 55 | 70 | 70 |
250 DT
8—M10X35
/Hex. soc. screw. e
= [HHE
= ~ 2 I3
E.L. N ‘ ¢_‘0 ‘ -
120 =
8 488 =
oI } ]
& 80_ (4] Body
. o B MAXIMUM DOOR
[3] Arm (door side)
R 150 D.WXD.H (mm) 4000x5000
£200
DOOR WEIGHT (kg) 1000

27



